GCSE Maths Takeaway 89 - Trigonometry

Pythagoras

A Pythagoras

Which of the following statements is true for this triangle?

A Sinx =3 -_
8.5¢cm
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



What is the correct calculation to find Correct Answer: ABCD
a) Sin(35 X 9) | A N S

by sin(35) x o | A N A B

C) 9 =+ sin(35) | L N PSP UPPPOTPPPP

d)sin 35) x 9 [P I

What is the correct calculation to find Correct Answer: AB C D
the missing side? Explanation:

a) 3+ sin(40) | L

b3 - cose) P

c) cos(40) = 3 T

d) cos™! (3 + 40)
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